Name: Primary 5-a-day

5th January

1,073 X 7

23

Find the size of the missing angle

50°
155°

55° X

Here is part of a timetable for a bus

Southville 09 18 10 38 12 05
Leek 09 28 1048 | -
Milton 09 41 1101 | -
Newtown 09 49 1109 | -

Red Island 09 55 1115 12 36
Sandville 10 13 1133 | oo
Bakerstown 10 31 1151 13 00

A bus leaves Southville at 10:38

How long does the journey to Newtown
take?

Anthony arrives at the Milton bus stop at
09:29
He waits for the next bus to Red Island

How many minutes should he wait?

At what time should Anthony arrive at Red
Island?
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